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The task statements specify signatures using generic type names void, int, int64, int[] (array),
and int[][] (array of array).

In C++, the graders use appropriate data types or implementations, as listed below

void bool int int[]

void bool int std::vector<int>

union(bool, int[]) length of array a

std::variant<bool, std::vector<int>> a.size()
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In C++, std::variant is defined in the <variant> header. A method with the return type
std: :variant<bool, std::vector<int>> can return either a bool or an std: :vector<int>.

The sample code below shows three working examples of functions returning std: : variant.

std::variant<bool, std::vector<int>> foo(int N) {
return N % 2 == 0,

}

std::variant<bool, std::vector<int>> goo(int N) {
return std::vector<int>(N, 0);

}

std::variant<bool, std::vector<int>> hoo(int N) {
if (N% 2 == 0) {

return false;

}

return std::vector<int>(N, 0);
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